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Aufgabe: Bestimme jeweils die erste Ableitung und vereinfache.

Klasse 10:

𝑓 ′(𝑥) = 4𝑥31) 𝑓 ′(𝑥) = 02) 𝑓 ′(𝑥) = 101𝑥1003)

𝑠′(𝑡) = 4𝑡34) ℎ′(𝑦) = 12𝑦115) 𝑓 ′(𝑥) = 1
3𝑥

− 2
36)

𝑚′(𝑎) = −3𝑎−47) 𝑔′(𝑧) = − 2
𝑧3

8) 𝑓 ′(𝑥) = − 30
𝑥319)

𝑓 ′(𝑥) = 𝑎𝑥𝑎−110) 𝑓 ′(𝑥) = − 𝑟
𝑥𝑟+111) 𝑔′

𝑘
(𝑡) = (2𝑘 + 1)𝑡2𝑘12)

𝑓 ′(𝑥) = 3𝑥2 + 2𝑥13) 𝑔′(𝑝) = 11𝑝10 + 7𝑝6 + 3𝑝214) 𝑤 ′(𝑥) = 6𝑥15)

𝑧′(𝑠) = 14𝑠6 − 12𝑠316) 𝑞′(𝑥) = 2𝑥− 1
217) ℎ′(𝑎) = 3

2𝑎 + 3𝑎−218)

𝑖′(𝑡) = −1 + 8𝑡−519) 𝑜 ′(𝑑) = −5𝑑4 + 2𝑑 + 320) 𝑔′(𝑟 ) = 12𝑟 5 − 4𝑟 + 521)

𝐴′(𝑟 ) = 2𝜋 · 𝑟22) 𝑉 ′(𝑟 ) = 4𝜋 · 𝑟 223) 𝑢′(𝑥) = − 1
2·
√
𝑥
− 124)

𝑔′(𝑦) = 5𝑦4 − 60𝑦325) 𝑡 ′(𝑥) = 1
2𝑥

3 − 426) 𝑓 ′(𝑥) = 40
𝑥227)

𝑔′𝑡 (𝑥) = 6𝑡𝑥2 − 3𝑡2𝑥28) 𝑎′𝑡 (𝑛) = 𝑡𝑛3 − 2 · (𝑡 − 𝑛)29) 𝑗 ′(𝑤) = 3
2·√𝑤 − 530)

𝑟 ′(𝑢) = 031) 𝑥 ′(𝑟 ) = −4𝑟32) 𝑓 ′(𝑥) = − 1
𝑥233)

𝑔′(𝑎) = 12𝑎2 + 1
3· 3
√
𝑎
234) 𝑐′(𝑎) = 4𝑎3 − 2𝑎35) 𝑘 ′(𝑣) = 2𝑣 −

√
236)

𝑗 ′(𝑘) = 2𝑘 − 2
𝑘3

37) 𝑓 ′(𝑥) = 038) 𝑏′(𝑥) = 𝑥 · (𝑥−12)
100039)

𝑟 ′(𝑢) = (𝑢 + 2) · (3𝑢 + 2)40) 𝑝′(𝑡) = −1, 5𝑡2 − 2𝑡41) 𝑔′(𝑠) = 3𝑠2 − 12𝑠 + 1142)

𝑑 ′(𝑥) = − 1
𝑥343) 𝑧′(𝑥) = − 8

𝑥544) 𝑗 ′(𝑎) = 6𝑎2 − 2𝑎 − 645)

𝑓 ′(𝑥) = −𝑥2 + 4𝑥 − 446) 𝑛′(𝑓 ) = 2𝜋 𝑓 − 2
√
6√

3𝑓 3
47) 𝑔′(𝑞) = 4𝑞3 − 3𝑞2 − 4𝑞48)

𝑙 ′(𝑥) = 049) 𝑟 ′(𝑤) = 𝑤2 · (20𝑤 + 129)50)

Klasse 11/12 - Grundkurs:

𝑓 ′(𝑥) = 8𝑥 + 251) 𝑗 ′(𝑥) = 2
3· 3
√
𝑥

52) 𝑠′(𝑟 ) = 150·𝑟 149−100·𝑟 9953)

𝑗 ′(𝑥) = 2 · (𝑥 + 4)54) 𝑠′(𝑤) = 15
𝑤6 − 1

𝑤
3
2

55) 𝑐′(𝑎) = 2𝑎56)

𝑏′(𝑟 ) = 2𝑟 − 157) 𝑔′(𝑧) = 2· (𝑧12−𝑧8−5)
𝑧11

58) ℎ′(𝑠) = 𝑐𝑜𝑠 (𝑠)59)

𝑢′(𝑥) = 3
(𝑥−8)260) 𝑙 ′(𝑢) = 15 · (𝑢 + 6)261) 𝑚′(𝑔) = 1

4·
√

𝑥
2 −3

62)

𝑡 ′(𝑖) = − 1
𝑖2

63) 𝑎′(𝑙) = 6 · 𝑐𝑜𝑠 (2𝑙 − 4)64) 𝑜 ′(𝑥) = 1√
𝑥
− 265)

𝑧′(𝑑) = 066) ℎ′(𝑜) = − 1
2·
√
1−𝑥67) 𝑓 ′(𝑡) = 12

(2𝑡+3)368)

𝑎′(𝑚) = 3·
√
𝑚
269) 𝑥 ′(𝑟 ) = 𝑐𝑜𝑠 (𝑟 )

𝑟 − 𝑠𝑖𝑛 (𝑟 )
𝑟 2

70) 𝑓 ′(𝑡) = (𝑡 − 3) · (3𝑡 − 5)71)

𝑢′(𝑎) = 3𝑎2 + 372) 𝑠′(𝑣) = 3
5𝑥

3 − 6𝑥2 + 173) 𝑘 ′(𝑢) = 2 · 𝑐𝑜𝑠 (𝑢)74)

𝑦′(𝑟 ) = 𝑟−4
4𝑟

3
2

75) 𝑓 ′(𝑥) = (𝑥−3)2 · (4𝑥−3)76) 𝑡 ′(𝑎) = 8𝑎+3
3· (2𝑎+1)

2
3

77)

1



Analysis
150 Ableitungen - Lösungen

Training
Klasse 10 bis 12

© Marvin Gassmann
cbn

𝑗 ′(𝑧) = 𝑐𝑜𝑠2(𝑧) − 𝑠𝑖𝑛2(𝑧)78) 𝑔′(𝑖) = −2 · 𝑒−2𝑖79) 𝑚′(𝑥) = 𝑥 · (𝑥 + 2) · 𝑒𝑥80)

𝑓 ′(𝑦) = −12 · 𝑒2−4𝑦81) 𝑛′(𝑥) = 𝑥2 · (2𝑥 + 3) · 𝑒2𝑥82) 𝑓 ′(𝑥) = 2𝑒𝑥 · (𝑒𝑥 + 6)83)

𝑧′(𝑥) = 084) 𝑓 ′(𝑎) = 2𝑒−0,1𝑥

585) 𝑠′
𝑘
(𝑢) = 𝑘 · (1 + 𝑒𝑘 ·𝑢)86)

𝑎′𝑥 (𝑏) = −3𝑒𝑏−𝑥87) 𝑙 ′
𝑏
(𝑥) = (𝑥 + 1)𝑒𝑥+𝑏88) 𝑛′

𝑘
(𝑔) = 10· (𝑘𝑔+𝑘+1)𝑒𝑘𝑔89)

𝑓 ′(ℎ) = 090) 𝑑 ′(𝑟 ) = 2 ·𝑐𝑜𝑠 (𝑥) · 𝑠𝑖𝑛(𝑥)91) 𝑓 ′(𝑥) = 𝑠𝑖𝑛(𝑥)+𝑥 ·𝑐𝑜𝑠 (𝑥)92)

𝑢′(𝑎) = − 30𝑎−3
2·
√
2−5𝑎93) 𝑟 ′(𝑡) = −8𝑡3 − 𝑡294) 𝑓 ′(𝑥) = 5

𝑥3 − 5𝑥495)

𝑜 ′(𝑎) = 3𝑎296) 𝑤 ′
𝑡 (𝑥) = 5𝑡𝑥4 − 197) 𝑐′(𝑠) = − 192

(3𝑥−16)398)

𝑑 ′(𝑖) = 099) 𝑗 ′(𝑎) = − 9
(3𝑎−4)2100)

Klasse 11/12 - Leistungskurs:

𝑓 ′(𝑥) = 1

6𝑥
5
6
− 3 · 𝑠𝑖𝑛(𝑥)101) 𝑢′(𝑣) = − 2

𝑣3
102) 𝑦′𝑎 (𝑧) = 1

𝑎2
− 𝑎

𝑧2
103)

𝑠′(𝑡) = − 1
2·
√
𝑡

104) ℎ′(𝑦) = − 90𝑦2

(15𝑦3−3)3105) 𝑓 ′𝑎 (𝑥) = −𝑎 · 𝑠𝑖𝑛(𝑎𝑥)106)

𝑏′(𝑥) = − 2(𝑥2+1)
(𝑥2−1)2107) 𝑑 ′𝑎 (𝑥) = 9𝑎5𝑥4

2
√
𝑎𝑥

108) 𝑏′(𝑙) = 3𝑙−9
2
√
𝑙

109)

𝑑 ′(ℎ) = 3ℎ2 − 3110) ℎ′(𝑎) = 4𝑎3√
𝜋

111) 𝑣 ′(𝑥) = 2
𝑥3 + 2112)

𝑑 ′𝑥 (𝑦) = 0113) 𝑦′(𝑥) = 𝑥4−4𝑥2−1
(𝑥2−1)2114) 𝑗 ′(𝑎) = − 1

𝑎2
115)

𝑓 ′(𝑥) = 3𝑎𝑥2 + 2𝑏𝑥 + 𝑐116) 𝑗 ′(𝑥) = 2𝑥 + 10117) 𝑠′(𝑎) = 4𝑠𝑖𝑛 (𝑎)
5 + 21

2𝑎4118)

𝑓 ′(𝑙) = − 4𝑙2

3119) 𝑠′(𝑟 ) = − 3
𝑟 4

120) 𝑦′𝑡 (𝑥) = 4𝑡𝑥 − 6
𝑥2121)

𝑠′(𝑥) = −𝑠𝑖𝑛(𝑥) − 96
49𝑥7122) 𝑝′(𝑡) = 3

2𝑡
2 + 1

2𝑡123) 𝑓 ′(𝑥) = 𝑢′(𝑣 (𝑥)) · 𝑣 ′(𝑥)124)

𝑓 ′(𝑝) = 6 · 𝑒𝑝+1125) 𝑧′𝑎 (𝑝) =
𝑎 ·𝑐𝑜𝑠 (𝑝 )

2·
√
𝑎 ·𝑠𝑖𝑛 (𝑝 )

126) ℎ′𝑥 (𝑎) = 2 · (𝑎 − 𝑒𝑥 )127)

𝑗 ′(𝑠) = 𝑎𝑛𝑠 · 𝑙𝑛(𝑎) · 𝑛128) 𝑞′(𝑡) = −
√
3

4𝑡
3
2

129) 𝑓 ′(𝑥) = − 𝑠𝑖𝑛 (2𝑥 )√
𝑐𝑜𝑠 (2𝑥 )

130)

𝑓 ′(𝑥) = 6 5√𝑥
5131) 𝑤 ′(𝑥) = − 𝑒𝑥

(𝑒𝑥+1)2132) 𝑎′(𝑤) = 4

(𝑤2+4)
3
2

133)

𝑐′(𝑟 ) = −𝜋 ·𝑐𝑜𝑠 (𝜋 (𝑟 +1))134) 𝑑 ′(𝑥) = −2 · 𝑐𝑜𝑠 (𝑥)135) 𝑞′(𝑝) = 𝑠𝑖𝑛 (𝑝 )+𝑝 ·𝑐𝑜𝑠 (𝑝 )
𝑝 ·𝑠𝑖𝑛 (𝑝 )136)

𝑠′(𝑡) = 4 · 𝑔(𝑡) · 𝑔′(𝑡)137) 𝑎′(𝑥) = 𝑓 ′(𝑥 + 2)138) 𝑘 ′(𝑟 ) = 𝑐𝑜𝑠 (𝑟 ) ·𝑔′ (
√
𝑠𝑖𝑛 (𝑟 ) )

2·
√
𝑠𝑖𝑛 (𝑟 )

139)

𝑧′(𝑥) = 10𝑥3−3𝑥2−4
2·
√
𝑥3−1

140) 𝑥 ′(𝑡) = − 3𝑡−1√
𝑡

141) 𝑑 ′(𝑡) = 2 · 𝑐𝑜𝑠 (𝑡) · 𝑠𝑖𝑛(𝑡)142)

𝑟 ′(𝑎) = − 2·𝑙𝑛 (𝑎)−1
𝑎3

143) 𝑠′(𝑡) = 1
𝑡−5144) 𝑦′(𝑎) = 𝑒𝑠𝑖𝑛 (𝑎) · 𝑐𝑜𝑠 (𝑎)145)

𝑖′(𝑎) = −𝑠𝑖𝑛 (𝑎)−2𝑎 ·𝑐𝑜𝑠 (𝑎)
2𝑎

3
2

146) 𝑑 ′(𝑟 ) = 𝑟 ·𝑐𝑜𝑠 (𝑟 2 )
2·𝑠𝑖𝑛

3
4 (𝑟 2 )

147) 𝑤 ′(𝑡) = 0148)

𝑜 ′(𝑏) = 1
𝑏 − 6𝑏149) 𝑢′(𝑥) = 2𝑥 ·𝑐𝑜𝑠 (𝑥2 )

𝑠𝑖𝑛 (𝑥2 )150)

2


